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Question Number : 1 Question Id : 6981771531 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement relating to ‘Growth'. ‘Development’ and
‘Maturation’.
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Growth and development lead to maturation
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Growth. development and maturation are one and the same
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Maturation helps in gl‘cm'th and development
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Growth and development are independent of maturation
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Question Number : 2 Question Id : 6981771532 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A person's characters like egocentrism. selfishness and cooperation speak
about this development of the person
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Physical and Social
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Emotional only

Question Number : 3 Question Id : 6981771533 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A child who plays with a doll as a living being 1s in this stage of Piaget's

theory of Cognitive Development
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Pre-operational stage
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Sensory motor stage
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Concrete operational stage
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Question Number : 4 Question Id : 6981771534 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A father has observed that his six year old daughter 1s naturally very talented
in painting. By noticing her talent in choosing colours, colouring pictures,
drawing figures etc., he has decided to send his daughter for painting classes to
help her become a good painting artist in future. Here the father has noticed
the girl's
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Question Number : 5 Question Id : 6981771535 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Sailaja’s son who 1s not serious about his examination desires to attend a party
and requested his mother to let him attend the party. To make her son realise
about the importance of examination and being responsible. Sailaja explained
about the consequences of not attending the examination and asked her son to
prepare for the examination and then attend to the party. Sailaja 1s
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Uninvolved parent
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Question Number : 6 Question Id : 6981771536 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One among the following may suffer from the drawback of ‘Halo Effect’
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Projective technique
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Question Number : 7 Question Id : 6981771537 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Among the following, the factors that influence learning are
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A) Learner's health
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B) Teaching Learning Material
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C)  Learner skills
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A, B & Conly
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A, Cé& Donly
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A, B& Donly
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Question Number : 8 Question Id : 6981771538 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Identify the example for Classical Conditioning among the following
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Reward a child who helped an old man crossing the road to reinforce
the behavipur
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Make children write on four ruled book to get correct strokes of letters
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Make preschoolers used to school by mitially giving toffees and toys and
then slowly to other activities which they enjoy and like going to school
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Give a child an activity to segregate similar objects from a tray that has
different types of objects
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Question Number : 9 Question Id : 6981771539 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A child by seeing her drunkard father suffer with ill health decided not to take

alcohol at all. Here learming accm‘cling to Bandura has happened by
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Bemnforcement of behavigur
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Observing the consequences of behaviour
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Direct experience
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Verbal instruction
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Question Number : 10 Question Id : 6981771540 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following 1e NOT a motivational technique
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Praise and reproof
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Reward and punishment

Conditioning and automation
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Competition and cooperation
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Question Number : 11 Question Id : 6981771541 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One of the following does NOT help in transfer of learning
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Experience
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Question Number : 12 Question Id : 6981771542 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement
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Teaching and learning constantly shape and enhance each other
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Teaching and learning both have Cognitive. Affective and Conative
aspects
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Teaching 1s facilitating, learning is developing
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Question Number : 13 Question Id : 6981771543 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Subtitling on a video screen 1s intended for assisting this category of Children

With Special Needs
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Options :

Visual impairment
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Intellectually dizabled
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Hearing impairment
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Learning disabled

Question Number : 14 Question Id : 6981771544 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A parent has expressed satisfaction during Parent Teacher Meeting that there
1s a lot of development in her child in terms of interpersonal relations,
understanding interdependence, accountability for actions, refined thought
process, regular exercise and expression of empathy. The development reflected
n the child here 15

2.8 dof &85 A8 (e DY Jdomogren, NG Gorr errlHdio, dfpH
sPantrdEio, HERE s Sae dpdo, BHPS ToirHo HBEM HiFD 45 55¢a

-

wl — .- Y D | [ - B, o a3 s
w0 e f?:nya"iﬂfg) Dobotil) H0ots &io dbiion & Hodm o Do, 58

l:m
¥
b
Bgxr,
[=.]

Options :

All round development
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Social and Emotional Development only
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Emotional and Intellectual Development only
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Social and Physical Development only
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Question Number : 15 Question Id : 6981771545 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

One of the following is a feature of student - centered paradigm
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It does not follow the simple to cmnplex concept
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Curriculum design takes into account the learning needs of all learners
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It 1s easier for the teacher to implement
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Subject matter is transacted only in accordance with the examinations
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Question Number : 16 Question Id : 6981771546 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A teacher using a tool to take feedback from her students about the
effectiveness of her lesson 1s in this phase of teaching
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Options :

Pre active
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Interactive
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Question Number : 17 Question Id : 6981771547 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An expert talks on reproductive health for school students 1s
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Counselling only
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Both guidance and Counselling
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Neither Guidance nor Counseling
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Guidance only

Question Number : 18 Question Id : 6981771548 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The assessment that determines eligibility for employment 1s
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Assessment for learning
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Question Number : 19 Question Id : 6981771549 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The behavipural pmb]enzl that necessitates medical imntervention is
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Bullying
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Question Number : 20 Question Id : 6981771550 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



As per the Right to Education Act, 2009, the academic authority shall consider
these while laying down the curriculum & evaluation procedures
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A} all round development of the child
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B) building up children’s knowledge & talent
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C) Comprehensive & Continugus Evaluation of child's understanding and
knowledge
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D) development of physical & mental abilities to the fullest extent
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Question Number : 21 Question Id : 6981771551 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As per NCF, 2005, the term-wise examinations could be commenced from this
class onwards

YOS Mo? W i o N Ry P < T N S
NCF 2005 :I-:A_.g":"j@-. & SO0 ok "E'._;'::Il\2 Eyila) &3&'3_"30 EylelalAlaTa TN

Options :

Class 7

753 805018
1.9

Class 6

6 & S0

2. %

Class 8

855 S55&

Question Number : 22 Question Id : 6981771552 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In a heterogeneous classroom. teaching should be done in this way
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Divide heterogeneous group into homogenous groups and teach

separately
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A heterogeneous group shall be taught in a way that suits the high

int elligence
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Teaching shall be mn multiple ways so as to meet the needs of the

learners
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A teaching method which 1s convenient for the teacher should be used
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Question Number : 23 Question Id : 6981771553 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The hereditary traits of a child at birth are passed through
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parents only
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maternal grand parents only
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Question Number : 24 Question Id : 6981771554 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The Universal Ethical Principles can develop in individuals at this stage of
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6th stage

Question Number : 25 Question Id : 6981771555 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

As per Vygotsky, learning in children takes place 1n this context
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Political context only
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Socip-cultural context only

Moral context only
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Question Number : 26 Question Id : 6981771556 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

As per Erickson’s Developmental theory. sense of trust is developed among the

infants in this parenting
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Question Number : 27 Question Id : 6981771557 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
One among the following is related to motivated forgetting
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amnesia
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Question Number : 28 Question Id : 6981771558 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following, identify the feature of programmed learning
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A) active participation of learner
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B} 1immediate feedback
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C) learning at own pace
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A,B&C
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Question Number : 29 Question Id : 6981771559 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement with regard to the personality of 1dentical twins
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Options:

the personality of identical twins 1s same

&
o

2. ¥

the personality of identical twins depends only on their heredity
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the personality of identical twins 1s same at infancy stage and differs as
they grow
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Question Number : 30 Question Id : 6981771560 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From the following. 1dentify the process that 1s relevant to affective domain
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motivation

1.« i-_?lnﬁﬂa
perception
attention
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SectionId: 69817749

Section Number : 2
Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 22
Number of Questions to be attempted : 22
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: Yes
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 69817779
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981771561 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (31 to 35)

Question Label : Comprehension
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Sub questions

Question Number : 31 Question Id : 6981771562 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 32 Question Id : 6981771563 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 33 Question Id : 6981771564 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 34 Question Id : 6981771565 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Question Number : 35 Question Id : 6981771566 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Sub-Section Number : 2
Sub-Section Id : 69817780
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Id : 6981771567 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (36 to 40)

Question Label : Comprehension
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Sub questions

Question Number : 36 Question Id : 6981771568 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 37 Question Id : 6981771569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 38 Question Id : 6981771570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 39 Question Id : 6981771571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Lot

-
LT S R SR T R
€587 pOTF 20 CleJOPT GOE000.

Options :

Question Number : 40 Question Id : 6981771572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

_ # o £ ) 3" T TR ¥ T £y
A e gt - 5 - -
[ESDOD SH0H0 Jagytd 5eniDiod.



.
T

C-E,.r. o

oF.

A8 or:

&,
L)

b
rm

g
1_—|:|'."n_'~:'ﬁ'__" 23

- Py i P,
o - ey e, Ul e el Al
t3oPel} LI SRRl it il a0

4. &

Sub-Section Number : 3
Sub-Section Id : 69817781
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 6981771573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Question Number : 42 Question Id : 6981771574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0
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Question Number : 43 Question Id : 6981771575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 44 Question Id : 6981771576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 45 Question Id : 6981771577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 46 Question Id : 6981771578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

n

Ly e =L Ty
R0 5P malio

8.8

i)

Options:

oy

2g 3y
=)

Question Number : 47 Question Id : 6981771579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

- T SR SO R LN ) e ML At A
S5ed, L0, Eed ol IO TIPELD e 2o

- £

Options :



=elwalac iy

EGO

U W

Question Number : 48 Question Id : 6981771580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
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Question Number : 49 Question Id : 6981771581 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 50 Question Id : 6981771582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 51 Question Id : 6981771583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 52 Question Id : 6981771584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 53 Question Id : 6981771585 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 54 Question Id : 6981771586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 55 Question Id : 6981771587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 56 Question Id : 6981771588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 57 Question Id : 6981771589 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 58 Question Id : 6981771590 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 59 Question Id : 6981771591 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
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Question Number : 60 Question Id : 6981771592 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
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Language II English

Section Id : 69817750
Section Number : 3

Section type: Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30
Enable Mark as Answered Mark for Review and

Clear Response: ves
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 69817782
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981771593 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)

Question Label : Comprehension



Read the following passage and answer the questions from 61-65. Choose the correct option

for each question.

Televisions show sounds and pictures. They get data from cables, discs. or over-the-air signals.
They tumn this data into sounds and mages. People watch news and shows on them. You
probably call them TVs, John Baird made the first TV m 1925, It had one color. It could only
show 30 lines. This was just enough room for a face. It didn't work well. but it was a start. The
first TV station was set up m 1928, By the end of the 1930s, TVs were working well. America
got its first taste at the 1939 World's Fair. Color TVs came out in 1953. They cost too much
money for most. Also, shows were aired in black and white. By 1963, color TVs were cheaper.
TV stations started airing shows in color. People had to switch if they wanted to see the shows.
Now most TVs are high-def. This means that they have many lines on them. This makes the
image clear. TVs have come a long way since Baird's 30 line set. High-def TVs have 1080 lines.
There are state of the art sets called 4K TVs. These TVs have 3,840 lines. Some people watch

TV 1n 3D. I wonder what they will come up with next.

Sub questions

Question Number : 61 Question Id : 6981771594 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Who 1s credited with making the first television?

Options:

Thomas Edison

John Baird

Alexander Graham Bell
3. %



Nikola Tesla

Question Number : 62 Question Id : 6981771595 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What was a characteristic of the first television created in 19257

Options :

It was color.

It had 1080 lines.

It could only show 30 lines.

4 % It was 3D compatible.

Question Number : 63 Question Id : 6981771596 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
What was significant about the 1939 World's Fair for television?
Options :

Introduction of 4K TVs



First public demonstration of color TV

America's first exposure to television
3.¢

Launch of commercial TV broadcasts

Question Number : 64 Question Id : 6981771597 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
In which year were color TVs first introduced?

Options :

1945

1. #

Question Number : 65 Question Id : 6981771598 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



What does “high-def” TV mean in terms of picture quality?
Options :

It has many lines. making the image clearer.
1.4

It has fewer lines than older TVs.

3 % Itcan display smells.

It 1s the same as a 4K TV.

4. %

Sub-Section Number : 2
Sub-Section Id : 69817783
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 6981771599 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Srilatha 1s the gir] of the village.

Choose the correct option to complete the sentence.
Options :
mdustrious than

1. %

mdustrious



most industrious
3.¢

more industrious

Question Number : 67 Question Id : 6981771600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
No one can solve my problem.

Choose the correct question tag to complete the sentence.
Options :

can’t he?

can he?

2. %

can't they?
3.

can they?
4. %

Question Number : 68 Question Id : 6981771601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



It took a long time to put out the fire.
The expression “put out” means:
Options :

| % postpone

extinguish
2. ¢

3 % reimburse

4 % faint

Question Number : 69 Question Id : 6981771602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

In which of the following words 1s ‘1’ pronounced.

Options :

1 % Almond

Molten

Half

4. % Should



Question Number : 70 Question Id : 6981771603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the word in plural form.
Options :

“ Syllabus

Toy

Alumm
3. %

4 % Mouse

Question Number : 71 Question Id : 6981771604 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Before I got my first job as a writer, I work as a proofreader.

The word “work™ has to be replaced by:

Options :

had worked

am working



had work

would working
4. % j

Question Number : 72 Question Id : 6981771605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
He works 7 am. to 5 p.m.
Choose the correct preposition to fill in the given blank.

Options :

with
1. %

> from

between

Question Number : 73 Question Id : 6981771606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The words “Yours sincerely” are the of a letter,

Options:



Salutation

Superscription

Subscription

Head

Question Number : 74 Question Id : 6981771607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

They painted the town red on Drwal.

The meaning of the expression “paimnted the town red”
Options :

painted the house red

went out and enjov
2. \/ & ..] w

spilled red wine

3. %

decorated the town with red flowers

Question Number : 75 Question Id : 6981771608 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
He 1s student.

Choose the correct option to complete the sentence.
Options :
the American

1. #

2 an American

3 % a American

American

Question Number : 76 Question Id : 6981771609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the part with an error in the given sentence.

They wants all the facilitates for themselves.

A B € D

Options :

A



Question Number : 77 Question Id : 6981771610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the word with the correct spelling.
Options :

Humanatarian

5 % Humaniterian

Humanitariean
3. %

4 Humanitarian

Question Number : 78 Question Id : 6981771611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I was disappointed.

Choose the correct option to complete the sentence.

Options :



agreeably

5 % agree

agreably

agrecs

Question Number : 79 Question Id : 6981771612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Everyone laughs behind his back.

Identify the part of speech of the word “Everyone™.
Options :

1 % Adjective

Pronoun

Conjunction

4 % Adverb

Question Number : 80 Question Id : 6981771613 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

I have no vindictive feelings about it.

Choose the meaning of the word “vindictive™.
Options:

revengeful
1.

virtuous
2 %

tranquil

abnormal

Question Number : 81 Question Id : 6981771614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
I like to take coffee. not tea.

Identify the correct option to complete the sentence.
Options :
but
1.9

50

and



since

4, %

Question Number : 82 Question Id : 6981771615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

They closed the shop.

Identify the correct Passive Voice sentence.
Options:

. The shop 1is being closed by them.
1.

The shop was being closed by them.
2. ®

The shop was closed by them.
3. %

4 % The shop had been closed by them.

Question Number : 83 Question Id : 6981771616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct option i which the jumbled words are ordered.

has/ tomorrow/ she / mnterview/ because/ an/ left/ early /Swathi

Options :



1 % Swathi left tomorrow because she has early interview.

Swathu left early because she has an interview tomorrow.
2.

Because Swathi has an interview tomorrow early she left.
3. %

Swathi has left early because she tomorrow an interview.

Question Number : 84 Question Id : 6981771617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
He said to me. “I was cutting vegetables.”
Choose the correct reported speech.
Options :
He told to me that he has been cutting vegetables.

1. %

5 % He told me that he was cutting vegetables.

He told me that he cuts cutting vegetables.

P He told me that he had been cutting vegetables.
4,



Question Number : 85 Question Id : 6981771618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

We can talk of things that happened to us a week ago or even years ago.

This character of human language 1s because
Options :

language 1s inherited.
1. %

> % language is arbitrary.

3 % language transmits culture.

language exhibits displacement.

Question Number : 86 Question Id : 6981771619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Language based learning disability (LBLD) refers to difficulties related to
Options :

understanding and use of written language only.

> % understanding and use of spoken language only.

listening and speaking the language only.
3. %



understanding and use of spoken and written language.

Question Number : 87 Question Id : 6981771620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Reading aloud helps the learners to
Options:

read the text for a longer time with less physical effort.
1. %

concentrate on reading rather than pronunciation.
2. ®

3 % know the meanings of the words.

improve the articulation and intonation.

Question Number : 88 Question Id : 6981771621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
These language skills are known as the receptive skills
Options :

Listening and Reading
1.9



Speaking and Writing

Reading and Writing

Speaking and Listening

Question Number : 89 Question Id : 6981771622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The main purpose of assessment 1s to
Options:

provide credible feedback to both teacher and leaner on the achievement of

learning outcomes,

send the report on leamers’ performance to the parents.

promote the learner to the next class.

4. % measure the marks and grades of the learer.

Question Number : 90 Question Id : 6981771623 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The act of conveying information is

Options :

Listening

5 & Communication

Observing

4 % Questioning

Section Id :

Section Number :
Section type :
Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :

Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Social Studies

69817751
4

Online
Mandatory
60

60

60

Yes

0
1
69817784

Yes



Is Section Default? : null

Question Number : 91 Question Id : 6981771624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

‘Rawi’ 1s travelling from New Delhi to New York, then ‘Ravt’
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Options :

Loses 4 minutes of time as he crosses every longitude
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Question Number : 92 Question Id : 6981771625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The lava which pours on the surface of the earth and forms these rocks
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Options :

Intrusive rocks

Extrusive rocks
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Sedimentary rocks

Metamorphic rock
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Question Number : 93 Question Id : 6981771626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This ocean or sea 1s sometimes congidered as an extension of the Pacifie

Ocean the Atlantic Ocean and the Indian Qcean
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Options:

Arctic Ocean
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Antaretic Ocean
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Mediterranean Sea
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Arabian Sea
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Question Number : 94 Question Id : 6981771627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following. this layer of the atmosphere contains about 75%
of the total gaseous mass of atmosphere and practically all the moisture and
dust particles
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Options:

Troposphere

1 & E“E'EJ hslalolel

Stratosphere
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Mesosphere

DEF edteso

Thermosphere
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Question Number : 95 Question Id : 6981771628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. these are NOT formed by the work of water

Sob 8, 28 PHerdo Hu KIS
Options:

V Shaped Valleys
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Ox-bow lakes
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Question Number : 96 Question Id : 6981771629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Between the latitudes 10% and 309 N and S of the equator, the rainfall is

heavier on the eastern coasts and decreases towards the west due to
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The Westerlies
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Question Number : 97 Question Id : 6981771630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In this type of farming, agriculture is practised on small patches of land with
the help of primitive tools hike hoe, dao. and digging sticks through family/
community labour
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Options :

Simple Subsistence farming

Commercial farming
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Intensive Subsistence farming
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Mixed farming
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Question Number : 98 Question Id : 6981771631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A Very bulky, dark reddish coloured rock used as a raw-material in

Aluminium smelters 1s
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Options :

Iron — ore

e N S
SAolled — L,_-":éuc-___z,

Coal
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Question Number : 99 Question Id : 6981771632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

T

The famous Kashmir Valley 1s running over a distance of about 135 km in
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North — East to South East
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South- West to North- West
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3. %
South-East to North-West
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Question Number : 100 Question Id : 6981771633 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
These mountains act as barriers protecting the Great Plains of India from the

cold winds of Central Asia during severe winter
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Options :

The Aravali Mountains
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The Purvanchal Hills
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The Himalavan Mountains
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The Western Ghats
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Question Number : 101 Question Id : 6981771634 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. this DOES NOT lead to population change

808 BS°, warer SrEnS POSAHRG
Options :

Birth Rate

g3 Oém
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Death Rate
T
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2. %
Internal migration
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External or International migration
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Question Number : 102 Question Id : 6981771635 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

From among the following, the rivers originated in the western Ghats are
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Options :

Narmada, Krishna and Godavanr

1. %
Krishna, Godavari and Thuneabhadra
o
5,5L . B oesiB soBain &orig|Es
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Tapti, Narmada and Godavari
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3. %
Tapti, Narmada and Thungabhadra
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Question Number : 103 Question Id : 6981771636 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These =o1ls are generally rich in potash but poor in phosphorous
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Red Soils
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Black Soils
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Question Number : 104 Question Id : 6981771637 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
The angle of incidence
585 Bmo

Options :

increases 1n the north during the months of November and December

and decreases in the months of May and June

.'!

Howb HBcn ERoab Jved® &80 eriiod” f 2%Ddos $H8cm D 58

I'} £l

2F

. i IS 1
Fe 'V '-\.-'O_-; @m@ﬂ&
1.4

Decreases in the north during the months of November and December

and increases in the months of May and June
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Neither increase nor decrease with the change of months, it remains

constant
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increases in the north during the months of November and December
and also increases in the months of May and June
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Question Number : 105 Question Id : 6981771638 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The river Godavari finally meets the Bay of Bengal at
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Options :

Antarvedhi in East Godavar: District
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Hamsaladeevi in Krishna District
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Kandukurthi in Nizamabad District
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Question Number : 106 Question Id : 6981771639 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
At present, the Indian law governing migration and employment of Indians
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Options :

The Emigration Act, 1983
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The Emigration Act. 1859
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The Enabling Act. 1933
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Question Number : 107 Question Id : 6981771640 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, the first jute mill was established near to this city
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Options :

Kolkata
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Question Number : 108 Question Id : 6981771641 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

This tax 1= levied at every stage of the production
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Property Tax
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Sales tax
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Question Number : 109 Question Id : 6981771642 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Orgmuued and unorganised employment 1s related to
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Working condition of employvees
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Question Number : 110 Question Id : 6981771643 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Formula to find Body Mass Index is:

o8 575 3085 (BMI) 9 $5/°5m08 drio:
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Options :

Weight in Kgs / height x height (in metres)
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Question Number : 111 Question Id : 6981771644 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following are affected by the Globalisation?
A) Nationality
erfiohd

B) Culture
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C) Language
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D) Elections
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Choose the correct answer
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Question Number : 112 Question Id : 6981771645 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One among the following is NOT a measure to provide food security in India
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MNEEGA

PDS

ICDS

MDM

Question Number : 113 Question Id : 6981771646 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The environmental ability to observe and render harmless waste and

pollution 1s called as
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Sink function
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Biodiversity
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Sustainable development
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Question Number : 114 Question Id : 6981771647 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

As per 2017-18 1n India, the major share of employment is in the following

sector
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Foreign sector

208 Dolio

Tertiary sector
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Industrial sector
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Agricultural sector
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Question Number : 115 Question Id : 6981771648 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

One among the following was NOT included in Kautilya's Arthasatra
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Options :

How to conquer and rule kingdoms?
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How to protect themselves from conspiracies?



How to tax different kinds of professions and gives information about

various resources available in different parts of Indian subcontinent?
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3. %
How to give information regarding the inscriptions of Chandra Gupta
Maurya?
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Question Number : 116 Question Id : 6981771649 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Shankaracharya was an advocate of

N £ o &3
Fosorird; B mt& BortD

Options :

The best means of attaining salvation was through intense devotion to
Vishnu
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The doctrine of the oneness of the individual soul and the supreme God
which 1s the ultimate reality
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The equality of all human beings and against Brahmanical ideas
about caste
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Understanding the pain of others
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Question Number : 117 Question Id : 6981771650 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
During the times of Mahajanapadas, Agriculture was managed by
landowners called

; . . .
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Question Number : 118 Question Id : 6981771651 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Megalith literally means
DTOE el

Options :

A big structure made of Iron

A burial site made of 1iron
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A tool made up of a big stone and mineral
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Question Number : 119 Question Id : 6981771652 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



In Andhra Pradesh. a highlight of the non- cooperation movement was
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Options:

Chirala Perala Mgovement
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WoPe 20Pe GHN0

1.4
Forest Satyagraha in Palnati Taluqua in Guntur District
Kotrth 2ep Heml srersed® wBAS Bl deriidro
2. #
Movement by the Peasants of Pmtapgarh in the United Province
SIBE A5 PeEeSiE Gien DY &0
3. % -
Quit India Satyagraha, Hyderabad
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Question Number : 120 Question Id : 6981771653 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Declaration of American Independence declared that all men are created
equal and are endowed by the creator with certain rights which cannot be
taken away. These rights include
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Options:



The Right to Life, Right to Equality and Right to Freedom of Speech
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1. ®
The Right to Life, Right to Liberty and Right to Expression
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2. % ”
Right to Education, Right to Survival and Right to Expression
D 25y, 0N Pl Hbdin grHhs 580 T

3. %
Right to life, Right to Liberty and Pursuit of happiness
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Question Number : 121 Question Id : 6981771654 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Constitution of France drafted in 1791 by the National Assembly began

with

i
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Options :

The Declaration of the Rights of man and citizen
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The Declaration of Rights of Woman

) PEy e EELIE
Provisions pertaining to citizenship
FrOHE08 Homobod nolide s
3. %
The Declaration of the Rights and Duties to be followed by the citizens
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Question Number : 122 Question Id : 6981771655 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Cave 15 of Ellora, showing Vishnu as Narasimha (the man lion ) 1s a work of
this period
DB S8BoTVAT Srii: eRm TS boirorr B8Y IS TER 155 thie, &
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Options :

Guptas
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Mayen

Chalukyas
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Bashtrakutas
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Chahamanas
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Question Number : 123 Question Id : 6981771656 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This turned out to be the first all India struggle against the British

Government although i1t was largely restricted to cities
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Quit India Movement
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Question Number : 124 Question Id : 6981771657 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A three-member mission sent by the British Cabinet in 1946 consist of the

fﬂl](}wing members

oo O R Do e B A sl g = e s e
J.q'-l-f] 'I_C._x o, SPrElde) adOeled o)1) h_.ﬂ’:a -:\,-:W' "8 el @ ) radlren
{1

Options:
Straford Cripss, Pethick Lawrence and Alexander
SPEFS 85y, DBS5 e8] $hBcin ©Brotsd

1.¢¥

Lord Mountbatten, Pethick Lawrence, Straford Cripss

Clement Atlee, Lord Mountbatten and Straford Cripss
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Clement Atlee, Alexander and Stafford Cripps

Sao8s o), oBiroid 66k e & §E
4.% 7 A .

Question Number : 125 Question Id : 6981771658 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the Gold coin issued by the Kakativas was

80b 78S, selicinen =28 398 wom®: @0
Options :
Bezant
| % H2065

Sri Ahita Gajakesari
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Osmania Sikka
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Question Number : 126 Question Id : 6981771659 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following. this family had brought a revolution in the
metallurgical industry

8oB >8E, & Lénowo

Options :



Tata Family

2.%
Crupp’s Family
Eo5) Béwono

3 % SN

Abraham Darby Famuly
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Question Number : 127 Question Id : 6981771660 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the correct statement
20 Pl hbodod

Options :

The Draft Constitution contains 395 Articles and 9 Schedules.

e Ty S i = - I £ = .: - = .1_L - e oy 8 s AR I A
sSnaronte orerroiiod” 395 5H80emen s08a6m 9 Ateen &amyon.

The Draft Constitution contains 398 Articles and 8 Schedules.

sooaronte orerroliod” 398 H8dmen sh8an 8 tTmren Samyon.



The Draft Constitution contaims 392 Articles and 8§ Schedules.

Soaronte Toel *ohom 392 3ESeen 3004 8 AFren GImow.
3. % =
The Draft Constitution contains 395 Articles and 8 Schedules
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Question Number : 128 Question Id : 6981771661 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Dr. Ambedkar considered this right as ‘heart and soul of the constitution’.
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Options:

Right to freedom

e T e
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Right against expl{}ituti{m
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Right to freedom of religion
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Right to constitutional remedies

JoaI0. 'h” ey
oees Cll ESla "\jn..g; o =07
L=

4.+



Question Number : 129 Question Id : 6981771662 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The Chief Election Commissioner and Election Commissioners can be removed

before the expiry of the term by
BTS af)ge $886 H60h dQyEe SIS S8dseeo SnAADE Snod B o
Options :

the President, if both Houses of Parliament malke a recommendation

with a simple majority.
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the Vice President, if both Houses of Parliament make a

recommendation with a special majority.
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the speaker of the Lok Sabha. if both Houses of Parliament make a
recommendation with a special majority.
aridioss 68100 SFen DaE De,8EE° Hardy Ba, 675 K¢ )56
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the President, if both Houses of Parliament make a recommendation
with a special majority.
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Question Number : 130 Question Id : 6981771663 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which one of the following DOES NOT constitute the electoral college for

electing the President of India
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Options :

Elected members of Rajyva Sabha
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Elected members of the Legislative Assembly of each State

Pl ol

S o L A Sl NN
[poed TPa0 CIDS) TPl dI S0 oo S) raEDrEn
c oy thia el

Question Number : 131 Question Id : 6981771664 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In which of the following can a non-member be the presiding officer
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Options :

Lok Sabha

State Assembly
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Rajva Sabha

State Legislative Council
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Question Number : 132 Question Id : 6981771665 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

73%constitutional amendment Act, 1992 is about

7338 oreerof 23808 ﬁ%-o. 1992 528 HomobHothd

Options :

Panchayati Raj institutions were given constitutional status.
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Elementary Education was made a fundamental right-Free and
compulsory education to children between 6 and 14 years
GrB&E DI ErHihs Py Dobadod- 6 580 14 Soddore Sl
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The women's reservation bill which reserves one-third of all seats for

women in Lok Sabha. State legislative assemblies
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The voting age was decreased from 21 to 18 for both Lok Sabha and
Legislative Assemblies elections
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Question Number : 133 Question Id : 6981771666 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Laws on the subjects mentioned under the Concurrent List will be made by
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Options:

Only Central Government
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Only State Government
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Central Government and State Government
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Central Government, State Government and Local Bodies (Zilla
Parishads)
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Question Number : 134 Question Id : 6981771667 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The minimum age required to be elected as a Sarpanch of Grama Panchayath

18
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21 years

21 HoHeTren
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30 vears
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Question Number : 135 Question Id : 6981771668 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

World Human Right Day 1s Celebrated on
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Options :

10t November

Ssoab 10
1. =

10t Qctober
5 % 085 10

10t December

& "Piar\,':'w ] 10

10tk September

Question Number : 136 Question Id : 6981771669 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
A German citizen staying in India cannot claim the following Right
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Options :

Equality before law

-e.}-:w Snolth SsrBEao

1. %
Protection of Life and personal liberty
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2. %
Freedom of religion
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3. % N
Freedom of trade and profession
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Question Number : 137 Question Id : 6981771670 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The following 18 NOT a feature of a democratic government

meTar: 20; @D ofmo SN0
Options :

Fundamental rights



Free and fair elections
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Freedom of religion
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Centrahzed decision-making
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Question Number : 138 Question Id : 6981771671 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The headquarters of UNESCO 1s located in
0032, (UNESCO) @ord soegodio 58,5 6od
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Pars
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New York
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Question Number : 139 Question Id : 6981771672 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Among the following. identify the main features of social studies.
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A) Social studies as a human study
?J"'o i ct_»..- [ 5 5.1:"‘?656 t—slb Cf-.-:\.,H“
B) Social studies 1s an idealistic course
Podnd F°Fo .8 etiHodadid 57t
C) The concept of social studies excludes commitment to action
Pobng Ecgo gR S8;% puz,r_:ﬁ %0 DA dotith.
D)  Social studies is a broad and composite instructional area.
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Choose the correct one:
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Options :

ABC&D
1. %
A, B& Conly
A, B & Csmsad
2. %



B.C & D only
B.C & D £rEs

A & D only
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Question Number : 140 Question Id : 6981771673 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Among the following, which is NOT CORRECT pair regarding educationists
and their contributions.
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Options:

John Dewey — quoted that classroom 1s miniature of universe
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Benjamin Bloom — deve]{}ped the lesson plan steps
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Kothari — suggested to establish common school system
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Killpatrick — Focussed on learning by doing

&6

F'A)

35 — Bcho TrTe e RodEo 2D 550 SobEboariD.

[
a8

4. %

Question Number : 141 Question Id : 6981771674 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Match the following List — A with List - B

& Sob A riE — A D, e - B & adaddol.

List— A (Disciplines) List— B (Aims of teaching)
PdE— A (Jgriidnwm) lee - B (§°68 63%;0)
A) Geograpy 1)  understanding the impact of culture on
arRPo human evolution
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B) History 1) appreciating role of UNO in protecting the

infel] world peace

C) Economics 1) Understanding the inter dependency among
sda o countries
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D) Civies 1v) Understanding relation between demand
TPl and supply
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ChGDSE‘ the correct answer.
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A—-1B-mC—-—1w:D—-n

A-mB—1:C—1w:D—n

2.
A-m:B—1:C—n:D—1wv
3. %
A—-m:B—w-{—-n:D-—1
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Question Number : 142 Question Id : 6981771675 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A class-9 student, actively participated in collecting different coins. stamps
ete. and prepared albums, serap books. It 1s reflecting the specifications of the

following domain.
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Options :

Cognitive Domain

aaeds 5 Solio
1. = °°

Affective Domain
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Psycho-motor Domain
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3. %
Interactive Domain
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Question Number : 143 Question Id : 6981771676 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Interpretation, classification, discrimination and identifying relationships are

the specifications of following teaching — learning objective
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Understanding
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Interest
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Question Number : 144 Question Id : 6981771677 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Which of the following 1s the autocratic teaching strategy used by Social

Science teachers in their teaching?
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Options :

Brainstorming strategy
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1. %
Dramatisation strategy
PEISE0m AT O
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Narration strategy
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Role-playing strategy
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Question Number : 145 Question Id : 6981771678 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The present Social Studies textbooks in Telangana state are developed. based

on the following key principles.
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A)  Integrated approach
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B)  Scope for self evaluation

a
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C)  Scope for questioning by the students
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D) A‘i-’ﬂld rote learning

MI’;‘; oaiido Bhote 3ahéo
E)  Linking the text with daily life experiences
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Choose the correct one:

0‘5'3-’-;6 PJCIJ.J m_T‘pJ\ E'L&.C “<'“—\--.

Options :

A,B.C& Eonly
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A.C.D & E only
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Question Number : 146 Question Id : 6981771679 Question Type : MCQ Option Shuffling

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following suggested to focus on content load; seientific outlook;
plurality and local content and Inter relationship among disciplines, while

developing the social studies textbooks.
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RTE. Act — 2009

NCFTE - 2010
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SCF - 2011
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NCF - 2005
4 NCF - 2005
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Question Number : 147 Question Id : 6981771680 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

By conducting social surveys, preparing models, country maps and exposing
to the field trips. the social studies teacher can inculcate these experiences

among students.
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Indirect
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Both direct and indirect
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Question Number : 148 Question Id : 6981771681 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following List-A with List-B.
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List— A List—B
(Social Lab Material ) (Examples for material )
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A) Historical material 1)  Magazines, bulletins
TPOBE HBETmen SPER en, endBR en
B) Three-dimensipnal material 1) Manuscripts, documents
BH&EDH HBESW Tedimduen, 2@ en
C) Study material ni) Projector, radio
0835008 Fesh Erags, &G
D) Audio-Visual material iv) Dioramas, models
By8; — Fdes HBEBmen EErSErD, dirare

ChGDSE‘ the correct answer:
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Options :
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Question Number : 149 Question Id : 6981771682 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
At present in Telangana state in summative assessment least weightage 1s

being given to this academic standard in social studies subject
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Options :
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Information skills

Mapping skills
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Conceptual understanding
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Question Number : 150 Question Id : 6981771683 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are true, related to types and techniques of

evaluation
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A)  Summative evaluation summarizes the final progress of the students
SofsRerd 8 aurerosdan g 0 Ol @odsh HNS Sofieriol
B)  Teacher-made tests, questionnairs and projects are the informal
techniques of evaluation
6PTRaD 08,8 Assen, Haythen HBAM erEHen - BIGTS irerp8s
T / dnden
C)  Diagnostic evaluation helps to find out the nature and cause of the
persistent learning problems.
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D)  Discussions, observation and feed back given by students are the
formal techniques of evaluation.
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Choose the correct one:
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